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Question Number : 1 Question Id : 2012981507 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which plugin is used to play movies and ads?

Options:
1 % Adobe Acrobat Reader

> % Selenium IDE
5  Microsoft Silverlight

4 » Firebug

Question Number : 1 Question Id : 2012981507 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Options:

1 % Adobe Acrobat Reader

- % Selenium IDE

5  Microsoft Silverlight

4 » Firebug

Question Number : 2 Question Id : 2012981508 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
In Windows 8, Internet Explorer offers different ways to save the web page.

Options:
1 % three
> % five

- ® twWo

4 « four

Question Number : 2 Question Id : 2012981508 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 WrongMarks: 0
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Options:
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Question Number : 3 Question Id : 2012981509 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
USB 2.0 was introduced in which year?

Options:
1 % 1098

> % 1999
s % 2004

4 « 2000

Question Number : 3 Question Id : 2012981509 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

USB 2.0 f&F 3w 3mmar ar?
Options:

% 1998
- % 1999
- = 2004

4 v 2000

Question Number : 4 Question Id : 2012981510 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
How many versions of USB were available till 20107

Options:



"
]
I

Question Number : 4 Question Id : 2012981510 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

2010 I USB & f&ae T&0T 39a0=y o7
Options:

12.32

oo 4

4 % 5

Question Number : 5 Question Id : 2012981511 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which is NOT a pivot table layout design from the following options?

Options:
, « Frame layout

- # Row labels
= % Summation values

4 # Report filter

Question Number : 5 Question Id : 2012981511 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:
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Question Number : 6 Question Id : 2012981512 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
How will you open a document using a keyboard when the Ctrl key is disabled?

Options:
. » Not possible to open it using keyboard

Alt+O+F

ra
u

Shift - O

L
®

4« Alt+F+0

Question Number : 6 Question Id : 2012981512 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:
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> % ATL+ O + F

- % Shift + O

L ATLT+F + O

Question Number : 7 Question Id : 2012981513 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Which of the following extensions is used for device driver file?

Options:
1 B dv

o drv

z ® .dr



Question Number : 7 Question Id : 2012981513 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:

1 ® .dv

= ® dr

Question Number : 8 Question Id : 2012981514 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

A cryptographic system based on Feistel cipher structure uses algorithmi s} for both encryption and decryption
Options:

1 « the same

> % different

- % multiple

4 » huge

Question Number : 8 Question Id : 2012981514 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:
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Question Number : 9 Question Id : 2012981515 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0



Which type of CD ROM is used to write, erase and rewrite data on a CD RAM?

Options:
i « CD-RW

> B CDR
= % CD-W

4 % DDR

Question Number : 9 Question Id : 2012981515 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

fdr CD RAM oT 221 15T #14, few 3t o w3e =7+ & @v fFw 9= & CD ROM =7 392
foram =T 27

Options:

, v CD-RW
. » CD R
2 % CD-W

. » DDR

Question Number : 10 Question Id : 2012981516 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
What do you mean by Autocomplete in MS Word?

Options:
1. ¢
Tip that helps to automatically complete the word or a text the moment you type the first four letters

> % 1ip that helps in storing the abbreviated spelling of a complete word or a text
- » Facility to automatically save the complete document when the typing is over

, » Facility to print the complete document

Question Number : 10 Question Id : 2012981516 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:
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Question Number : 11 Question Id : 2012981517 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
In Microsoft Excel, the intersection of a row and column is called a

Options:
square

®

i,

&,

o o cell
= # cubicle

4 % worksheet

Question Number : 11 Question Id : 2012981517 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:
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Question Number : 12 Question Id : 2012981518 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Charles Babbage developed a machine called:

Options:



, « Difference Engine

> % Pascalline

- » Electronic Numerical Integrator and Calculator

4 % Punched Card

Question Number : 12 Question Id : 2012981518 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Ted TS ZIRT IR AT FMF F FAT FgT FaT 22
Options:
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Question Number : 13 Question Id : 2012981519 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

is a fast-speed printer.
Options:
| Laser printer

- % Jet printer

- % Dot matrix printer

4 = Daisy wheel printer

Question Number : 13 Question Id : 2012981519 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 14 Question Id : 2012981520 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which high-speed memory co-ordinates with the speed gap between the processor and main memory?

Options:
1 « Cache

> % PROM
- » EPROM

4 # SRAM

Question Number : 14 Question Id : 2012981520 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Options:
1 « Cache

, # PROM
- » EPROM

. # SRAM

Question Number : 15 Question Id : 2012981521 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of the following helps a user to perform simple as well as complex arithmetic and logical operations?

Options:
7, Microprocessor

> % Printer

= % Mouse



4 = Keyboard

Question Number : 15 Question Id : 2012981521 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Options:
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Question Number : 16 Question Id : 2012981522 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
In which year was the first computer mouse introduced to the market?

Options:
1 ® 1985

5 % 1996
s « 1968

4 % 1975

Question Number : 16 Question Id : 2012981522 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:

, % 1985

. % 1996
- v 1968

4 % 1975

Question Number : 17 Question Id : 2012981523 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 WrongMarks: 0
Which of the following applications is NOT a part of the Microsoft Office 2010 suite?

Options:
1 % Access 2010

> % Outlook 2010
z % Excel 2010

4 MSN Messenger

Question Number : 17 Question Id : 2012981523 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:

1 % Access 2010
> % QOutlook 2010
z % Excel 2010

4 v M3N Messenger

Question Number : 18 Question Id : 2012981524 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
In a Windows-based application, when you click the Maximize button, it changes into the

Options:
1 % Minimize button

> # Close button

- % Open button

4 + Restore Down button

Question Number : 18 Question Id : 2012981524 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Options:
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Question Number : 19 Question Id : 2012981525 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of the following topologies uses a lot of cabling and therefore is expensive to install?

Options:
1 % Bus

> % Ring
= % Star

4 « Mesh

Question Number : 19 Question Id : 2012981525 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
freatafas & @ 7 @ Sd=Er s FaHeT & 39aer =19 § oy sufRe s rufds s =2
z?

Options:
1, % ¥H

o W ﬁ?T
z & FH

4 v HA

Question Number : 20 Question Id : 2012981526 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

enables you to simultaneously keep multiple web pages open in one browser window.
Options:
1 % Tab box



> « Tab row

5 u E&Ckey

4 % Address bar

Question Number : 20 Question Id : 2012981526 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
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Options:
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Question Number : 21 Question Id : 2012981527 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
When vou turn on the computer. the boot routine will perform

Options:
1 % RAM test

disk drive test

ra
u

memaory test

4 « Power-on self-test

Question Number : 21 Question Id : 2012981527 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Options:
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Question Number : 22 Question Id : 2012981528 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of the following is NOT necessary for the exchange of a document on a network?

Options:
, « Floppy

- % Cable
= % Port

4 % Satellite

Question Number : 22 Question Id : 2012981528 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 23 Question Id : 2012981529 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0

The domain name “org’ 15 a generic top-level domain (gTLDY) of the Domain Name System (DNS) used in the Internet
and is related 1o

Options:
1 # education

> # non-commercial

= % commercial



s organisation

Question Number : 23 Question Id : 2012981529 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Options:
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Question Number : 24 Question Id : 2012981530 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

An address that starts with WWW is related to:
Options:

1 % modem

> % internet

5 u telephone

4 « website

Question Number : 24 Question Id : 2012981530 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Options:
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Question Number : 25 Question Id : 2012981531 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

A is a software program used to view web pages.
Options:

1 % site

4 « browser

Question Number : 25 Question Id : 2012981531 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 26 Question Id : 2012981532 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

What is defined by the Handout Master?
Options:

, w Slide formatting

-  Layout of audience handout notes

- » Handout content formatting for Word export

4 % Slide transaction

Question Number : 26 Question Id : 2012981532 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 27 Question Id : 2012981533 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Which output device is used for translating information from a computer into a pictorial form on paper?

Options:
1 ®% Mouse

> « Plotter
= % Punched cards

4 % Keyboard

Question Number : 27 Question Id : 2012981533 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:
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Question Number : 28 Question Id : 2012981534 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
A worksheet range refers to:

Options:



, w acommand used for date modelling

- u arange of values, such as from 23 to 234
5 8 group of cells

4 % agroup of worksheets

Question Number : 28 Question Id : 2012981534 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 29 Question Id : 2012981535 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The boot sector from where the operating system needs to begin its operation is:

Options:
 « Track0, Sector |

> % Irack 0, Sector 0
- % Irack 1, Sector 1

4 % Track 1, Sector 0

Question Number : 29 Question Id : 2012981535 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Options:



| v &% 0, BT 1
, % &% 0, BFI 0
. % oF 1, BT 1

L % &% 1, BFITO0

Question Number : 30 Question Id : 2012981536 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of the following is NOT a text function in MS Excel?

Options:
, » CHAR()

. ® CLEAN()

4 v ABS()

Question Number : 30 Question Id : 2012981536 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

MS Excel # fa0 # © &9 T ¢ T Al 87
Options:

. % CHAR()

.« LEN()
. « CLEAN()

.« ABSY()

Question Number : 31 Question Id : 2012981537 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Which of the following allows you to select more than one slide in a presentation?
Options:

1 ® Alt + click each slide



> u Shift +drag each slide

3 « Shift + click each slide

4 % Ctrl +drag each slide

Question Number : 31 Question Id : 2012981537 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Options:

| w Alt + 9% TaIEs W e

, » Shift + Jci% Forss Wi
5 » Shift + 3% Targs W fFaF

, % Ctrl + 90 Toligs @

Question Number : 32 Question Id : 2012981538 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of the following statements is INCORRECT with regard to editing of data in a cell?

Options:

-~

Erther you can select the cell and then click in the formula bar 1o edit there or you can edit the data right in the call.

g2
To edit data in a cell, single-click the cell and place the insertion point wherever you need to edit.

S
r

Double-click in the cell and sither tvpe the new informarion or delete the information thar is incorrect in edit mode.

.I =1
Editing directly in & cell is useful when vou are editing text in a cell, and it is even more vseful when vou are working
with formmulas.

Question Number : 32 Question Id : 2012981538 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Options:
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Question Number : 33 Question Id : 2012981539 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

What is the maximum mumber of columns and rows in MS Excel 20137
Options:

1 « 16384 columns and 1048576 rows

> % 256 columns and 65536 rows
5 % 384 columns and 48576 rows

4 % 128 columns and 37276 rows

Question Number : 33 Question Id : 2012981539 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:
.« 16384 wiow 3T 1048576 T
- % 256 Wiotd 3R 65536

5 % 384 Fad 3R 48576 U

4 % 128 Frad\ 3R 37276

Question Number : 34 Question Id : 2012981540 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
All of the following are the types of modems, EXCEPT:



Options:
1 v PDA

> % external
- # internal

4 % wireless

Question Number : 34 Question Id : 2012981540 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:

1 « PDA
o % TFHSAA
. % SeLd
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Question Number : 35 Question Id : 2012981541 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Files that are broken into small parts and are stored wherever space is available are said to be

Options:
, w merged

-  fragmented
5 % compressed

4 % lost

Question Number : 35 Question Id : 2012981541 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
W= UHT WEe 3 ol 90 & S JAeT § 3T S FEr TOF 399y £ 98 JOed & = 21

Options:
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Question Number : 36 Question Id : 2012981542 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of the following statements about MS Excel is INCORRECT?

Options:
, = Arange can be defined as a group of contiguous cells.

> % Ranges can be very small or very large.

5  [Ihe shape of the range can be rectangular, square, round, triangular or any odd shape.

4 % One important condition for a range is that it should have parallel facing sides.

Question Number : 36 Question Id : 2012981542 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 37 Question Id : 2012981543 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
To list the files in ‘/boot” directory in a human readable format in Linux, use command.

Options:
1 % ls-l/boot

> % ls /boot



= # ls~ /boot

4 « ls-1h /boot

Question Number : 37 Question Id : 2012981543 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Options:

1 % Is -l /boot

- % |s /boot
=z % Is 7 /boot

4 « |8 -lh /boot

Question Number : 38 Question Id : 2012981544 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

In Windows 10, user accounts are stored in database.
Options:

, = Security

-~ % User Account
% % User Credential

Qv Security Account Manager

Question Number : 38 Question Id : 2012981544 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 39 Question Id : 2012981545 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
What is the key combination to remove the outline border from the selected cells in MS Excel?

Options:
1 ® Ctrl + Shift + &

» % Ctrl+ Shift +)

5 o Ctrl+ Shift

4 % Ctrl + Shift + $

Question Number : 39 Question Id : 2012981545 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:

, % Ctrl + Shift + &

, % Ctrl + Shift + )

5 » Ctrl + Shift _

. % Ctrl + Shift + §

Question Number : 40 Question Id : 2012981546 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Which file format is used to save Microsoft Word 97 to 2003 document?
Options:

1 #% doecx

> « doc

3z ® dox

4 % msdoc



Question Number : 40 Question Id : 2012981546 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:

1 & doex

> « doc
z % dox

4 % msdoc

Question Number : 41 Question Id : 2012981547 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Which file format is used to save Microsoft Word 2010 document?
Options:

1 #% msdoc

> % doc
3 « docx

4 % msdocx

Question Number : 41 Question Id : 2012981547 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:

1 # msdoc

> % doc
2 « docx

4 % msdocx

Question Number : 42 Question Id : 2012981548 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
What is the key combination to open the Design tab?

Options:



1 ® Alt+0O
> % Alt+D
3 o At +G
4 ® At+N

Question Number : 42 Question Id : 2012981548 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:

. % Alt + O

. % Alt + D
2 v Alt + G

L% Alt + N

Question Number : 43 Question Id : 2012981549 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Pictures and shapes option are available in which tab?
Options:

, % Design

> " Insert

5 % Lavout

4 % Format

Question Number : 43 Question Id : 2012981549 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 44 Question Id : 2012981550 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Clip art option is available in which of the following tabs?

Options:
1 % Format
» s Design

= o Insert

4 8 Layout

Question Number : 44 Question Id : 2012981550 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 45 Question Id : 2012981551 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
What is the key combination to add single space lines in MS Word?

Options:
1 % Ctrl+0

> o Ctrl+1



s 8 Chl+2

4 % Ctrl+3

Question Number : 45 Question Id : 2012981551 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Options:
[ % Ctrl+ 0

» @ Ctrl + 1
2 Cirl + 2

L% Ctrl + 3

Question Number : 46 Question Id : 2012981552 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
When you are working with paragraph formatting, which tab is active in MS Word?

Options:
1 % Insert
> « Home

z % Edit

4 % Format

Question Number : 46 Question Id : 2012981552 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

MS Word H, S 31T EITH WA F T FH & g g, df Fid O & "iea gar 82
Options:

1 % Insert

- « Home

- w Edit

4 # Format



Question Number : 47 Question Id : 2012981553 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which button aligns each text line between the margins?

Options:
,  Justify

> u Align left
- » Align right

4 # Align center

Question Number : 47 Question Id : 2012981553 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:
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Question Number : 48 Question Id : 2012981554 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
According to de facto standard. how many keys are available on a keyboard?

Options:
;% 100
> % 110

s % 109

4« 104

Question Number : 48 Question Id : 2012981554 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:

, = 100
> % 110
- % 109

4 v 104

Question Number : 49 Question Id : 2012981555 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Antivirus software is an example of software.

Options:
1 % communication

> % database
5 o utility

4, % Operating system

Question Number : 49 Question Id : 2012981555 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 50 Question Id : 2012981556 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Theft of media is a type of threat that is related to:

Options:



, % Physical damage

-  compromise of information

= % loss of essential services

4 # natural events

Question Number : 50 Question Id : 2012981556 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 51 Question Id : 2012981557 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
To which of the following security devices is the hand scanner related?

Options:
1 % Smart card

> # Firewall
3 « Bilometrics

4 % Scanner

Question Number : 51 Question Id : 2012981557 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Question Number : 52 Question Id : 2012981558 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The aerial of a radio receiver induces signal voltage in the range of:

Options:
1 % millivolts
> % volts

= o microvolts

4 % kilovolts

Question Number : 52 Question Id : 2012981558 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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READING COMPFREEHEMNSIOM

Section Id : 201298159
Section Number : 2
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 1
Number of Questionsto be attempted: 1
Section Marks: 5
Display Number Panel: Yes

Group All Questions: No



Sub-Section Number: 1
Sub-Section 1d: 201298159
Question Shuffling Allowed : Yes

Question Id : 2012981559 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (53 to 57)
Cuesticon Label | Comprehension

The Olympics

The four yearly cycle of the modern Olympics has in the past few
decades been disrupted by global warfare, terrorist outrage and political
boycott. Revived in 1896 as a form for peaceful competition between the
finest athletes in the world, the Games have also reflected national
rivalries. Even in ancient Greece. where the original Olympics took
place, there had been feuds among its states. But once every four years in
the month of July, internal warfare was formally suspended and the
athletes and the interested people moved towards Olympia. Today the
ruins of Olympia still stand testimony to the glory of the Games. The site
lies in the south of Greece. Archaeological evidence indicates that
Olympia was a place of worship even in prehistoric times. Later, it
became particularly associated with festivities honouring Zeus. greatest
of gods — who started a tradition of games at Olympia. Whatever the
reality behind the legend is, history records that in 776 BC, the warring
kings signed a sacred peace pact. To honour their contract, foot races
were held at Olympia. The names of the winning contestants were
written down, and the records of the Olympics provide the central
chronology of Ancient Greek history.

The Games expanded over the centuries. To the original foot races were
added races on horseback and in chariots, jumping and throwing events,
and several forms of unarmed combat. In the 5th century BC. a fixed
programme was agreed. with separate contests for men and for boys. The
Games had become the supreme festival in ancient Greece.

Women were not allowed to compete in the main Games. They had a
separate four yearly festival held in honour of Hera. wife of Zeus.
During these celebrations. also held at Olympia. a foot race was
organised for women. but it was entirely unrelated to the main festival.
The only exception to the ban on women occurred in the chariot races.
where the owner of the horses rather than the charioteer was considered
the winner. Women could and did win as owners though they were never
allowed to take part themselves.

When the ceremony was over, the Olympic champions would walk in a
majestic procession. The cheering of their admirers was tumultuous.

Sub questions

Question Number : 53 Question Id : 2012981560 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Why were the original Olympics held?
Options:
, « Tomarka period of peace

> % o give time for national rivalry
5 % 1o end the warfare permanently

4 % 7Tounite the states together

Question Number : 54 Question Id : 2012981561 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0

How often were the Greek Olympics held?
Options:

| % Once a year

-~ » Every four months

5 w Fourtimes a year

4  Once in four years

Question Number : 55 Question Id : 2012981562 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

How did women take part in the Games?
Options:

| % As spectators

= o AS owners
5 # As charioteers

4 % As foot racers

Question Number : 56 Question Id : 2012981563 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

What were the first games that were held?
Options:

, % Jumping



> % Throwing events
= « FoOot races

4 % Unarmed combat

Question Number : 57 Question Id : 2012981564 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
How were the winners honoured?
Options:

; w» They were given medals

> % Their names were announced
-  [Ihey walked in a procession

4 % TheKings rewarded them

Question Id : 2012981559 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (53 to 57)
Cesticn Label | Comprehiension
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Sub questions

Question Number : 53 Question Id : 2012981560 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 54 Question Id : 2012981561 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 55 Question Id : 2012981562 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Question Number : 56 Question Id : 2012981563 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 57 Question Id : 2012981564 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Section Id : 201298160
Section Number : 3
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 6
Number of Questionsto be attempted: 6
Section Marks: 6
Display Number Panel: Yes

Group All Questions: No



Sub-Section Number: 1
Sub-Section 1d: 201298160
Question Shuffling Allowed : Yes

Question Number : 58 Question Id : 2012981565 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
What will come in place of the question mark (?) in the following question?

23 % 15—-60+7 +31=292
Options:
; ® 218

> % 186

Question Number : 58 Question Id : 2012981565 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

= woF # w7 s (?) & T 9T 4T 2E?

23 x 15 -60 + ? + 31 = 292
Options:

% 218
. % 186
3 o 217

4 % 201

Question Number : 59 Question Id : 2012981566 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
What will come in place of question mark (?) in the following number series?
17 289 425 493 527 ?

Options:
| ® 534

o % 542

= o 344



Question Number : 59 Question Id : 2012981566 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

e e ol & wd BEa (?) & TUE W F47 e’
17 289 425 493 527 ?

Options:

, % 534
. % 542
5« 544

. % 594

Question Number : 60 Question Id : 2012981567 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
In an exam, Ritiz scored 32% macks, Sunil scored 64% macks and Ravi scored 74% marks, The maximum marks of the
exam are 750, What is the average marks scored by the tluee bovs topether?

Options:
1. o 475

> % 485
5 % 450

4 ®% 490

Question Number : 60 Question Id : 2012981567 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 61 Question Id : 2012981568 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Select the option that is related to the third number in the same way as the second namber is related to the first number.
15667 185 T
Options:

1 ® 824

o R 644
s % 604

i Bl4

Question Number : 61 Question Id : 2012981568 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Options:

| % 824

. % 644
5 % 604

L v 814

Question Number : 62 Question Id : 2012981569 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

7 @rls can da a piece of work i 13 days, 6 bows can do the same pigce of work in 12 days, 9 men can do the same pisce
of work in @ dayvs and & women can do the same piece of work in 14 davs. Who are the most efficient?

Options:

| « BOYs
> % Girls
= % Women

4 % Men

Question Number : 62 Question Id : 2012981569 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 WrongMarks: 0
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Question Number : 63 Question Id : 2012981570 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

A guestion is given, followed by three statements fabelled T, 11 and T1. You have to read the gquestion and the statements
carefislly and decide which of the statements is/are necessary to answer the quastion.

What 1s the spead of a boat in sl water?
1. The boat covers 12 km in 2 hours downstream.
II. The boat covers the same distance in 4 hours upstreanm.
L.  The speed of the stream is one-third that of the boart in still warer.

Options:
1 % BothIandII

> « 1and either IT or IIT

2 » AllL Iland II

4 % The question cannot be answered even with the information in all three statements.

Question Number : 63 Question Id : 2012981570 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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GEMERAL MENTAL ABILITY AND EEASONING

Section Id : 201298161

Section Number : 4

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 6

Number of Questionsto be attempted: 6

Section Marks: 6

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 201298161
Question Shuffling Allowed : Yes

Question Number : 64 Question Id : 2012981571 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Study the following arrangement carefully and answer the question given below:

SCMENET2ZYGS@QST*WEZIUES A4

How many non-alphanumeric symbols are there in the above series each of which is immediately preceded and also
immediately followed by a vowel?

Options:
> o One

= % Two

4 % Three

Question Number : 64 Question Id : 2012981571 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0O
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Options:

1 % Nil
> « One
= % TWO

4 % Three

Question Number : 65 Question Id : 2012981572 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Study the following series carefully and answer the question given below:
ABCDEFGHIJKLMNOPQRSTUVWXYZ

Which letter is exactly midway between G and Q in the given series?

Options:
1 ® K

o« L
3.33 M

4 % N
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Options:

IHK
>« L

SHM
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Select the option in which the words share the same relationship as that shared by the given pair of words.

Intimidate : Wheedle
Options:
| % Resolute : Impetuous

> % Coordinate : Disinter
3 # Defile : Rebuke

4  Extol: Disparage

Question Number : 66 Question Id : 2012981573 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

37 famred &1 =9e & [ wedl & @ 9 §Faey g 39 & QT av aeg gvR & A g

Fsfa g ;. JATA

Options:
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For the following analogy, find two waords (T and IT) refated to the words alveady given, one wortd for each of two related
pairs

[:Water o Thermomester @ I1

I. (1) Humichity {23 Rain {3) Pitcher  (4)Evaporation
II. {A) Temperature (B) Mercury (C) Docter (D) Fever

Options:
1 ® 1D
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A group of three/four inter-related words are piven. Choose a word from the given alternatives that is similar to the
given words and hence belongs to the same group.

Clhateh - Bralke : Horn
Options:
1 % Scooter

5 o Steering
= % Car

4 % Accident
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A word is represented by only one set of numbers as given in any one of the alternatives, The sets of numbers given in
the alternatives are represented by two classes of letters as in the two given matrices, The columns and rows of Matrix T
are numbeared from O to 4 and those of Matrix IT from 5 to @, A letter from these matrices can be represented first by its
row arkl then the colurmm nmber; ez 5 cim be represented by 14, 21, ele. Stoilarly vou have to ddentify the comect el
for the word SOLE.

Matrix I Matrix I1

0 | L 2|3 |& 5 |6 |7 [B |9
01 A |E 5 |T |H S|P Q REE.'. E
| T |H |A |E = a |KE L |[F O R
b |E |8 [T |H |[a 7 O |R|E |L [P
3 |H|AalE |8 |T g [L P |O|R K
4 |5 |T H|A|E o [R |[K|L [P |O
Options:

, % 41,57,87,31
,  33.99.66,44
5 » 21,75,44,02

4 % 02,78,87,13
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HigFw | Afg=w |l

BERAERT 5 16 |7 |8 |9
0 |A|E |5 |T |H 3 |FP QR |K|L
l r [H|& |E |5 6 |[KE L |P |O|R
2 |E T [H A 7 [0 |R |E|L [P
3 |H|A|E |5 [T s L |p|o R|K
4 |8 H A |E o [R|E|L P

Options:

| % 41,57,87,31
. » 33,99,66,44
. » 21,75,44,02

, = 0278,87,13
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Match List-I (Landforms) with List-II (Associated features) and selact the correct by using the codes given below the
lisra:

LisE-1 List-NI
A Sralactie . Saline soil
B. Solenchak 2. Limwstope
C, short 3, Volcanic rock
D. 5ill 4. Salrlake
Codes!
Options:

, % A-1,B-4,C-2,D-3

» % A-2,B-3,C4,D-1

5 v A2, B-1,C-4,D-3

4 % A-4,B-1,C-2,D3
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

TNl (FEwH) # FH (HeE RdvaE) Few s g F A R S #1390 =195 5 S g4

List-| List-i
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x AL, B4, G2, D3
ou A2, B3, G4, B
v A2 B1,C4,D3

ou Ad, B-1, C2, D3
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A customer can purchase US dollars in India from:

Options:



, % Public Debt Division of the RBI only

- u American Express Bank only

-  RBI or any branch of a bank which is authorised for such business

4 % Ministry of Foreign Affairs
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Correct Marks: 1 WrongMarks: 0
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Which of the following countries was the earliest to give women the right to vote?
Options:

1 % Iceland

®

> % India

= « New Zealand

&,

4 % USA

Question Number : 72 Question Id : 2012981579 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct Marks: 1 WrongMarks: 0
The study of the process of ageing is called

Options:
. w» gZynaecology

-  gerontology

ontogeny

4 w orthology
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Match the following:

A. 1192 1. Third Battle of Panipat
B. 1707 2. Second Battle of Tarain
C.1761 3. Death of Akbar

D. 1605 4. Death of Aurangzeb

Select the correct answer from the codes given below:
Options:

, % A-1,B2,C-3,D4

» & A-4,B-3,C-2,D-1

3 & A-2,B-4,C-1,D-3

4 # A2,B-4,C3,D-1
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Correct Marks: 1 Wrong Marks: O
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Options:

u AL B2, 63, D4
o A B3, G2, B
. v A2, B4, C1, D3

on A2 B4, C3, D
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In which field of art did Jamini Roy make his name?

Options:
« Sculpture

1
> % Music

-  Painting

4 % Drama
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Question Number : 76 Question Id : 2012981583 Question Type: TYPING TEST Display Question Number : Yes

Surmrmer camps are supervised camps conducted to entertain as well as equip students with various life skills
such as tearmwork, socializing, decision making, independent and responsible living and more. [t aids the
overall development of a child and children hawve fun during this process as they get to explore new arenas.
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Science contributes to an overall understanding of how and why things work. [t explains the reason behind the
daily functioning of complex systermns that range from the human body to modern transportation. Students
and children use this knowledge to understand and learn new Concepts, peruse new interasts and malke
well-informed decisions. It also provides tactical proof of many facts we read in books or see on television.
Hence, science helps children to understand things better and increase their capability to learn. Science knows
no boundaries as it is a universal subject. After years of active and persistent efforts, this subject claimed to
be a part of the school curriculum and got recognized. It has proved indispensable for the existence of man
and has revolutionized human life. Supremacy of Science has now been established in every field and thus it
is necessary to educate the students on this subject. The tempo of our lives has also been quickened. & new
social and political outlook has been given to the man altogether. Hence, the study of science has become a
necessity in this age and without learning the modern science, a man is like a lame individual with no sense of
the modern era. Here is why it is important to learn the wonders of science at the school level. Science provides
exClusive teaching on inspection and reasoning. It makes the students form an objective judgment. It is
extremely helpful for our supervision in life. We exist in a world of scientific inventions. 50 science education
cannot be ignored. Science is also taught to offer training and knowledge of scientific methods. Awareness of
the methods of observation and experimentation in the different fields of science helps students develop a
logical brairn, a significant judgment and a capacity for disciplined organization. Science provides remedies for
any defects in the ordinary school education. It is considered to be the most valuable elernent in the education
of those who show special ability. [t instructs the children to use their leisure properly and is clearly illustrated
in scientific hobbies. It has its own literature and cultural values. The scientific discoveries of Newtorl, Darwin,
Armstrong, and others are treasures for mankind and hence science has won the first rank in Humanistic
studies. The study of scierce and technology proceed as an everlasting urge to obtain knowledge. The more we
know of the secrets of nature, the more we understand how much remains unidentified. We are learning as
rmuch of the secrets of the molecular cells in a living organism as of the atoms in space. Hence, the modern
syllabus of studies must comprise the study of science and technology, as it assists a scientific mind in
resolving the problemns of life.
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